2021-12-02 Pikkujoulukisa 2122021 Lopputulos

3 pOytad, 6 paria. Jakoméadra: 25. Keski: 50. Vertailu.

Sija Pari Pisteet % Vert Nimi J-ID Kerho
1 6 65 65,0 Varpu Honkakoski - Robert Saltin 1254 2966 Salon Bk - Ei SBL:n jdsen
2 2 53 53,0 Jarmo Laakso - Hannu Nokka 1365 Salon Bk
3 3 46 46,0 2 Matti Rintala - Jaakko Viima 3024 2080 Salon Bk
4 1 46 46,0 0 Riitta Eerikdinen - Pirkko Laiho
5 4 45 450 2 Jukka Pettersson - Tuure Salminen 3023 2962 Salon Bk - Ei SBL:n jisen
6 5 45 450 0 Ulla Kakko-Paajanen - Anneli Saneri 2938 1959 Ei SBL:n jdsen
Jako: 1 Jako: 2 Jako: 3
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
24 3a N = A 140 40 24 1a E -1 3 50 40 61 3N S +2 «J 460 40
35 4v E -1 3 50 22 61 3¢ E = vK -110 22 35 3N S +1 «K 430 272
61 3v E = aK -140 04 35 3ax S -2 ¢K 500 04 24 3v S = a2 140 04
Jako: 4 Jako: 5 Jako: 6
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
61 IN E -1 6 100 40 24 3N W+1 &9 430 31 62 3a N +1 vA 170 40
24 3a E 13 8 -170 22 35 3N W+l v] 430 31 43 3v W-1 «6 100 22
35 2¢ S -2 «10 200 04 61 3N W3 v6 490 04 15 2v W+1 aQ -140 04
Jako: 7 Jako: 8 Jako: 9
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
62 IN N = ¢K 90 40 62 4v W -1 a4 50 40 43 34 N -2 3 -100 40
15 1a S -2 ¢A 200 13 15 3v E +3 a9 230 22 15 3¢ WH2 a8 -150 22
43 2N N -2 «K 200 13 43 49 W = aK 420 04 62 3N E +1 a2 -630 04
Jako: 10 Jako: 11 Jako: 12
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
15 IN S -1 oJ -100 31 63 2¢ W -394 150 40 63 3N S +1 aK 630 40
62 IN S -1 &2 -100 31 21 Pass 0 22 21 lax W -3 ¢10 500 22
43 3N N -2 #2 200 04 54 2N E +1 vJ] -150 04 54 2¢ E -1 vA 50 04
Jako: 13 Jako: 14 Jako: 15
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
21 2¢ E = &K -110 40 63 5ax E -3 ¢K 500 40 21 1lv N +1 a5 110 31
54 2N W = ¢6 120 22 54 3a E -2 &«A 100 22 63 2¢ N = a9 110 31
63 24 W+l 9 -140 04 21 3N N -3 aK -150 04 54 2v N -1 ¢A -100 04
Jako: 16 Jako: 17 Jako: 18
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
64 3N S = a6 400 40 64 24 N = &A 110 40 13 24 W+l ¢A -140 31
13 IN N +2 &5 150 13 13 2¢ S -2 &5 -100 22 64 24 W+l oA -140 31
52 2N N +1 «10 150 13 52 3vx S -5 &8 -1100 04 52 IN E 2 &6 -150 04
Jako: 19 Jako: 20 Jako: 21
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
52 4v E -1 «8 100 40 64 24 E -1 10 100 40 32 Pass 0 272
13 4v E = o8 620 22 13 2¢v W = o4 -110 13 41 Pass 0 272
64 4v E +1 8 -650 04 52 24 E = oA -110 13 6 5 Pass 0 22
Jako: 22 Jako: 23 Jako: 24
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
3 2 Pass 0 22 32 Pass 0 22 32 Pass 0 22
41 Pass 0 22 41 Pass 0 22 4 1 Pass 0 22
65 Pass 0 22 6 5 Pass 0 22 6 5 Pass 0 22

SBL 0302 Salon Bridgekerho




2021-12-02 Pikkujoulukisa 2122021

Lopputulos
3 pOytad, 6 paria. Jakoméadra: 25. Keski: 50. Vertailu.
Jako: 25
Pari Sit LK Tulos Pisteet
32 Pass 0 22
41 Pass 0 22
6 5 Pass 0 22

SBL 0302 Salon Bridgekerho



